BUS STOP IMPROVEMENTS - #11-165-B - BID SCHEDULE LINE ITEM COMPARISONS

isiisulokaalu	BIDDER5:	Lagal eksi kaldaasi elme		Daviech L	inited	Duo:Gard	ndustries
Bid Item #	Item Description	Quantity	Units	Unit Price	Amount	Unit Price	Amount
1	APC06X12N 'Palladian' Roof, Transit Shelter, 6'x12'	10	EA	\$7,295.00	\$72,950.00	\$9,488.00	\$94,880.00
2	BE31791 "Easy-access", Bench, 3- seat c/w backrest	11	EA	\$525.00	\$5,775.00	\$730.00	\$8,030.00
3	MF303034 Map Frame, 36" x 42"	10	EA	\$275.00	\$2,750.00	\$145.00	\$1,450.00
4	Freight - Shipment to City Maintenance Facility located at 1810 Hembree Road, Alpharetta, Georgia 30009	1	EA	\$2,995.00	\$2,995.00	\$0.00	\$0.00
	TOTAL BI	D AMOUNT	:		\$84,470.00		\$104,360.00

BID SCHEDULE

<u>Item</u>	<u>Description</u>	Quantity	<u>Unit Price</u>	Extended Price			
1	APC06X12N 'Palladian' Roof Transit Shelter, 6'x12'	10	<u>\$ 7295 720</u>	\$ 72,950. Ex			
2	BE31791 "Easy-access" Bench, 3-seat c/w backrest	11	\$ 525.00	<u>\$ 5775. 750</u>			
3	MF303034 Map Frame, 36" x 42"	10	\$ 275. %	s 2750. %			
4	Freight - Shipment to City Maintenance Facility located at 1810 Hembree Road, Alpharetta, Georgia 30009	1 BID 7	·	\$ 2995. 60 4470. 750 U.S.			
	(Numbers) E1947 FOUR HOUSAND, FOUR HUNDRED & SEVENHY DO CLARS (Words)						
	COMPANY BIDDING: Daytech Limited BIDDER'S SIGNATURE: Don McLuue						

REFERENCE REQUEST

REFERENCES: The following references are from current and past accounts of similar size and scope.

Name of Entity/Firm:	City of Tallahassee				
Mailing Address:	555 S. Appleyard Dr				
City/State/Zip Code:	Tallahaggee FL 32304				
Contact Person Name: Ralph Wilder					
Contact Person Telephone N	umber:				
Date When Work Performed	2009, 2010, 2011				
Description of Work Perform	Provide many bus shelters and ned:				
REFERENCE # 2					
Name of Entity/Firm:	City of Boca Raton				
Mailing Address:	201 W Palmetto Park Rd				
	Boca Raton FL				
Contact Person Name:	John Reilly				
	umber: (561) 461.3374				
	Several years to 2011				
Description of Work Perform	Supply palladian shelters				

REFERENCE # 1

REFERENCE #3

Jame of Entity/Firm:Metrolinx / GO Transit							
Mailing Address: 20 Bay St							
City/State/Zip Code: Toronto, ON							
Contact Person Name: Lester Keachie							
Contact Person Telephone N	Number:(416) 869-3600 x-5682						
Date When Work Performed	d:Many years, including current						
Description of Work Perform	med:						
	nelters. Various styles.						
REFERENCE # 4	ork Region Transit						
Name of Emily/Phin.							
Mailing Address:	50 High Tech Rd						
City/State/Zip Code:	Richmond Hill, ON						
Contact Person Name:	Joshua Scholten						
Contact Person Telephone N	Number: (905) 762-1282 x-5696						
Date When Work Performed	d:d:						
	med: A large number of standard dome roof						
Describition of Mork Letton							

REFERENCE # 5

Name of Entity/Firm:	Town of Oakville	
Mailing Address:	430 Wyecroft Rd	
City/State/Zip Code:	Oakville ON	
Contact Person Name:	Joanne Phoenix	
Contact Person Telephon	ne Number:(905) 845-6601 x-3504	
Date When Work Perforn	med: Many years, including current multi-year ag	gree
Description of Work Peri		
agreement, or connection materials, supplies or eq understand that collusive fines, prison sentences, and certify that I am aut provisions of the Official	y, I certify that this bid is made without prior understanding, on with any corporation, firm, or person submitting a bid for same quipment, and is in all respects fair and without collusion of fraud. I be bidding is a violation of State and Federal law and can result in and civil damage awards. I agree to abide by all conditions of this bid, thorized to sign this bid for the bidder. I further certify that the all Code of Georgia Annotated and the Code of Ordinances of the City will not be violated in any respect.	
Name of Company:	Daytech Limited	
Contact Name:	Dion McGuire, President & COO	
Phone Number:(416) 675-1195 Fax (416) 675-7183	
Signature Dion	Mc Givel Fax (416) 675-7183	

XXVI. LOCAL VENDOR PREFERENCE

The City of Roswell has enacted a Local Vendor Preference ordinance which applies to all informal and formal procurements greater than \$10,000 excluding construction projects; professional and consulting services; federally funded projects; and online/electronic sealed bid/reverse auctions. A local vendor's responsive and responsible bid will be given preference in the contract award if the bid is within two percent (2%) of the low bid offered by a non-local vendor. The Local Vendor must operate and maintain a brick and mortar business within the corporate limits of the City of Roswell; have a current Occupation Tax Certificate; paid in full all real and personal taxes owed the City; and which upon application has been certified as a "Local Vendor" prior to bid due date and time (has submitted a vendor application and indicated in the bid documents vendor is participating as a local vendor.)

Indicate here if participating as a loca	l vendor: YES	NO	X
If YES, submit with the bid, a copy o (Business License).	f your current (City of Roswell C	Occupation Tax Certificate
Daytech Limited	(4:	16) 675-119	5
Company Name		Phone #	
70 Disco Road	(4	16) 675-718	33
Address		Fax #	
Toronto, ON M9W 1L9	dm	ıcguire@dayt	techlimited.com
City, State and Zip		Email	
Sion Mc Luin	President	& COO	June 13, 2011
Bidder Signature	Title		Date

BIDDER MUST SIGN AND COMPLETE THE ABOVE

END OF BID FORM